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QUESTION 1

Which statement is true about the Workflow Administration application?
A. It can be used to modify a workflow process.

B. It can be used to activate or deactivate a workflow process.

C. It can be used to view and manage active instances of a workflow process.

D. It can be used to view and manage both active and inactive instances of workflow processes.

Correct Answer: C

QUESTION 2

Where are roles used?

A. communication template, escalation, actions, e-mail listeners

B. communication template, escalation, service level agreement, workflow

C. communication template, notifications, service level agreement, workflow

D. communication template, notifications, service level agreement, e-mail listeners

Correct Answer: B

QUESTION 3

How is concurrent user information monitored?

A. Set the mxe.mbocount property and review the output in the log file

B. Set the mxeusercount property and review the output in the log file

C. Set the mxe.db.logSQLTirneLimit property and review the output in the log file
D. Set the mxe.db.fetchResultLogLimit property and review the output in the log file

Correct Answer: A

QUESTION 4
Which factor would normally be considered when developing a primary location hierarchy?
A. The financial relationship between locations

B. The functional relationship between locations
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C. The geophysical relationship between locations
D. The organizational relationship between locations

Correct Answer: C

QUESTION 5

Which statement is true about configuring Application Server security?
A. It manages authorization.

B. It manages authentication.

C. Itis used to import users from LDAP.

D. It is used to manage both authentication and authorization.

Correct Answer: B
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